[ number of missing inner layers |

1e Entries 2126
E Mean 0.06585
r Std Dev 0.2733
-1l : : :
107 Entries 2158
F Mean 0.06487
N Std Dev 0.2714
-2
10 3 Entries 2158
E Mean 0.06487
B Std Dev 0.2714
103 T ]
F Entries
r Mean
Std Dev
-4
107F
-5 A A SR
10°F
01059"”“'”””"”'""""I""I""I""I""
T -
o r o
et
0.955ud : e L
0 05 1 15 2 25 3 35 4 45 5

[ number of missing outer layers |

1 Entries 2126
Mean 0.3424
Std Dev 1.062
S P ‘e - I
10 : : [Entries 2158
F : : Mean 0.3503
L N Std Dev 1.074
2L et T T
10 E : Entries 2158
F ' Mean 0.3503
3 B . Std Dev 1.074
10°F :
E : Entries 2120
r . Mean 0.3425
10-4 : Std Dev 1.057
10_5 E_ ............... | DR I Beeeeamnnn
1058 ] A II
0.95L :
0 5 10 15 20 25

——
—_—

mean hi —

DQM_TT__original

DOM_TT__0pt09_PU3
DOM_TT__1pt09_PU3
DOM_TT__2pt09_PU3

40

35

<hits> vs n

30

25

20

15

10

5

Ratio

0.95!

Entries 2126
: | Mean 17.78
- Std Dev

10?

10

Mean

1=
o uif
= f
g 105 F- Tt
E >
U= -t PR
F | HTHTT : :
0.95
0 5 10 15 20 25 30 35 40
track hits
Entries 2326
Mean 2.056
Std Dev 6.034
""" AR |
Entries 2360
Mean 2.071
Std Dev 6.008
: 1
Entries 2360
Mean 2.071
Std Dev 6.008
Entries 2318
Mean 2.042
Std Dev 6.028
i
Lo F "
=
< [
o N
= e
085 i : i .
10 1 10 10 10



	Contents
	Page 1


